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B4 169 148 119 -29 80%
HNE 5 6 2 -4 33%
E28TH 1 1 1 0 100%
REYILEAK 1 0 0 0 0%
Eloays) 131 121 98 -23 81%
KiEh 144 96 90 -6 94%
A E 9 5 7 2 140%
= 3 3 3 0 100%
BERKERAX 0 0 0 0 0%
HEIALVERK 0 0 0 0 0%
HEE 0 0 0 0 0%
HEE 1 0 0 0 0%
LiEm 376 338 345 7 102%
STERA 275 212 203 -9 96%
fITESE) 96 78 79 1 101%
ATIE 89 82 87 5 106%
BiEE 28 23 13 -10 57%
LA 9 6 7 1 117%
pANziE ) 0 0 0 0 0%
[LHEA 295 267 250 -17 94%
KETF 7 v BRK 2 2 2 0 100%
B 0 0 0 0 0%
el 91 97 29 -68 30%
AR 1 0 0 0 0%
HEE 1 0 0 0 0%
BEET 14 11 10 -1 91%
Fy hEBK 0 0 0 0 0%
D lIE= 18 15 12 3 80%
HINE 0 0 0 0 0%
EEAE 0 0 0 0 0%
TGRS 1 2 1 -1 50%
At 1760 1513 1358 -155 90%




